BID TABULATION FOR:

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO. STEWARTS CREEK TRIBUTARY NO. 2 DETENTION TO SERVE SILVERTHORNE PHASE TWO MONTGOMERY COUNTY MUNICIPAL UTILITY DISTRICT NO. 202A CITY OF CONROE, MONTGOMERY COUNTY, TEXAS FEBRUARY 8, 2024 LJA ENGINEERING, INC. C. DURHAM FEBRUARY 8, 2024 0202-1007A (9.2)

| | ITEMS | PROPOSED CONTRACT TIME (CALENDAR DAYS) |
|----------------|--|--|
| \$2,320,017.00 | \$2,307,403.00 | 90/100 |
| \$2,444,728.00 | \$2,432,856.00 | 90/100 |
| \$2,456,109.00 | \$2,462,045.00 | 150/180 |
| \$2,528,511.00 | \$2,528,511.00 | 70/80 |
| \$4,083,926.58 | \$3,961,504.00 | 135/150 |
| \$4,908,415.00 | \$4,856,475.00 | 45/55 |
| | \$2,444,728.00 \$2,456,109.00 \$2,528,511.00 \$4,083,926.58 | \$2,320,017.00\$2,307,403.00\$2,444,728.00\$2,432,856.00\$2,456,109.00\$2,462,045.00\$2,528,511.00\$2,528,511.00\$4,083,926.58\$3,961,504.00 |

PATRICK B. HOANG PATRICK B. HOANG 148173 CENSE ONAL DOLLAZO24 Patrick Hoa(g, E., hereby-certify these bid fabulations to be true and correct.

| BID TABULATION FOR: BID OPENING DATE: | | | CITY OF CONROE, MONT FEBRUARY 8, 2024 | | | | | |
|--|------|-------|--|--------------|-----------------|--------------|-------------------|--------------|
| BID OPENING LOCATION: TABULATION BY: TABULATION DATE: | | | LJA ENGINEERING, INC. C. DURHAM FEBRUARY 8, 2024 | | | | | |
| LJA JOB NO. | | | 0202-1007A (9.2) 1) CARLSON MCCLAIN COMPANY | | 2) KEAN CONSTRU | CTION LLC | 3) REBEL CONTRACT | ORS, INC. |
| ITEM DESCRIPTION | UNIT | QTY | UNIT COST | TOTAL COST | UNIT COST | TOTAL COST | UNIT COST T | OTAL COST |
| UPSTREAM BERM 1 - DETENTION ITEMS | | | | | | | | |
| 1 5' DEPTH SHEET PILE STRUCTURE (PZ27 OR APPROVED EQUAL), ASTM A 572, GRADE 50 STEEL WITH 16 MIL MINIMUM DRY FILM THICKNESS (DFT) COAL TAR EPOXY FOR THE TOP HALF AND ON BOTH SIDES OF SHEET PILE, AND ALL RELATED AND MISCELLANEOUS APPURTENANCES AND ITEMS RELATED TO AND NECESSARY TO COMPLETE THE PROJECT AS SHOWN IN THE PLANS, (MATERIAL ONLY), COMPLETE IN PLACE | SF | 440 | \$39.00 | \$17,160.00 | \$38.00 | \$16,720.00 | \$33.00 | \$14,520.00 |
| 2 INSTALLATION OF 5' DEPTH SHEET PILE STRUCTURE (PZ27 OR APPROVED EQUAL), ASTM A 572, GRADE 50 STEEL WITH 16 MIL MINIMUM DRY FILM THICKNESS (DFT) COAL TAR EPOXY FOR THE TOP HALF AND ON BOTH SIDES OF SHEET PILE, AND ALL RELATED AND MISCELLANEOUS APPURTENANCES AND ITEMS RELATED TO AND NECESSARY TO COMPLETE THE PROJECT AS SHOWN IN THE PLANS, COMPLETE IN PLACE | SF | 440 | \$19.00 | \$8,360.00 | \$22.00 | \$9,680.00 | \$22.00 | \$9,680.00 |
| 3 13' DEPTH SHEET PILE STRUCTURE (PZ27 OR APPROVED EQUAL), ASTM A 572, GRADE 50 STEEL WITH 16 MIL MINIMUM DRY FILM THICKNESS (DFT) COAL TAR EPOXY FOR THE TOP HALF AND ON BOTH SIDES OF SHEET PILE, AND ALL RELATED AND MISCELLANEOUS APPURTENANCES AND ITEMS RELATED TO AND NECESSARY TO COMPLETE THE PROJECT AS SHOWN IN THE PLANS, (MATERIAL ONLY), COMPLETE IN PLACE. | SF | 650 | \$39.00 | \$25,350.00 | \$38.00 | \$24,700.00 | \$33.00 | \$21,450.00 |
| 4 INSTALLATION OF 13' DEPTH SHEET PILE STRUCTURE (PZ27 OR APPROVED EQUAL), ASTM A 572, GRADE 50 STEEL WITH 16 MIL MINIMUM DRY FILM THICKNESS (DFT) COAL TAR EPOXY FOR THE TOP HALF AND ON BOTH SIDES OF SHEET PILE, AND ALL RELATED AND MISCELLANEOUS APPURTENANCES AND ITEMS RELATED TO AND NECESSARY TO COMPLETE THE PROJECT AS SHOWN IN THE PLANS, COMPLETE IN PLACE. | SF | 650 | \$19.00 | \$12,350.00 | \$22.00 | \$14,300.00 | \$22.00 | \$14,300.00 |
| 5 16' DEPTH SHEET PILE STRUCTURE (PZ27 OR APPROVED EQUAL), ASTM A 572, GRADE 50 STEEL WITH 16 MIL MINIMUM DRY FILM THICKNESS (0FT) COAL TAR EPOXY FOR THE TOP HALF AND ON BOTH SIDES OF SHEET PILE, AND ALL RELATED AND MISCELLANEOUS APPURTENANCES AND ITEMS RELATED TO AND NECESSARY TO COMPLETE THE PROJECT AS SHOWN IN THE PLANS, (MATERIAL ONLY), COMPLETE IN PLACE. | SF | 800 | \$39.00 | \$31,200.00 | \$38.00 | \$30,400.00 | \$33.00 | \$26,400.00 |
| 6 INSTALLATION OF 16' DEPTH SHEET PILE STRUCTURE (PZ27 OR APPROVED EQUAL), ASTM A 572, GRADE 50 STEEL WITH 16 MIL MINIMUM DRY FILM THICKNESS (DFT) COAL TAR EPOXY FOR THE TOP HALF AND ON BOTH SIDES OF SHEET PILE, AND ALL RELATED AND MISCELLANEOUS APPURTENANCES AND ITEMS RELATED TO AND NECESSARY TO COMPLETE THE PROJECT AS SHOWN IN THE PLANS, COMPLETE IN PLACE. | SF | 800 | \$19.00 | \$15,200.00 | \$22.00 | \$17,600.00 | \$22.00 | \$17,600.00 |
| 7 30' DEPTH SHEET PILE STRUCTURE (PZ27 OR APPROVED EQUAL), ASTM A 572, GRADE 50 STEEL WITH 16 MIL MINIMUM DRY FILM THICKNESS (DFT) COAL TAR EPOXY FOR THE TOP HALF AND ON BOTH SIDES OF SHEET PILE, AND ALL RELATED AND MISCELLANEOUS APPURTENANCES AND ITEMS RELATED TO AND NECESSARY TO COMPLETE THE PROJECT AS SHOWN IN THE PLANS, (MATERIAL ONLY), COMPLETE IN PLACE. | SF | 11250 | \$39.00 | \$438,750.00 | \$38.00 | \$427,500.00 | \$33.00 | \$371,250.00 |
| 8 INSTALLATION OF 30' DEPTH SHEET PILE STRUCTURE (PZ27 OR APPROVED EQUAL), ASTM A 572, GRADE 50 STEEL WITH 16 MIL MINIMUM DRY FILM THICKNESS (DFT) COAL TAR EPOXY FOR THE TOP HALF AND ON BOTH SIDES OF SHEET PILE, AND ALL RELATED AND MISCELLANEOUS APPURTENANCES AND ITEMS RELATED TO AND NECESSARY TO COMPLETE THE PROJECT AS SHOWN IN THE PLANS, COMPLETE IN PLACE. | SF | 11250 | \$19.00 | \$213,750.00 | \$22.00 | \$247,500.00 | \$22.00 | \$247,500.00 |
| 9 35' DEPTH SHEET PILE STRUCTURE (PZ27 OR APPROVED EQUAL), ASTM A 572, GRADE 50 STEEL WITH 16 MIL MINIMUM DRY FILM THICKNESS (DFT) COAL TAR EPOXY FOR THE TOP HALF AND ON BOTH SIDES OF SHEET PILE, AND ALL RELATED AND MISCELLANEOUS APPURTENANCES AND ITEMS RELATED TO AND NECESSARY TO COMPLETE THE PROJECT AS SHOWN IN THE PLANS, (MATERIAL ONLY), COMPLETE IN PLACE. | SF | 1750 | \$39.00 | \$68,250.00 | \$38.00 | \$66,500.00 | \$33.00 | \$57,750.00 |

| BID TABULATION FOR: BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO. | | | STEWARTS CREEK TRIBU TO SERVE SILVERTHORNE MONTGOMERY COUNTY M CITY OF CONROE, MONTG FEBRUARY 8, 2024 LJA ENGINEERING, INC. C. DURHAM FEBRUARY 8, 2024 0202-1007A (9.2) 1) CARLSON MCCLAIN C | E PHASE TWO UNICIPAL UTILITY DISTR OMERY COUNTY, TEXAS | | UCTION LLC | 3) REBEL CONTRAC | TORS. INC. |
|---|---------------------|-----------|---|--|-----------|----------------|------------------|----------------|
| ITEM DESCRIPTION | UNIT Q | TY | COMPANY L UNIT COST | TOTAL COST | UNIT COST | TOTAL COST | | TOTAL COST |
| 10 INSTALLATION OF 35' DEPTH SHEET PILE STRUCTURE (PZ27 OR APPROVE EQUAL), ASTM A 572, GRADE 50 STEEL WITH 16 MIL MINIMUM DRY FILM THICKNESS (DFT) COAL TAR EPOXY FOR THE TOP HALF AND ON BOTH SID SHEET PILE, AND ALL RELATED AND MISCELLANEOUS APPURTENANCES A ITEMS RELATED TO AND NECESSARY TO COMPLETE THE PROJECT AS SHI IN THE PLANS, COMPLETE IN PLACE. | D SF ES OF ND | 1750 | \$19.00 | \$33,250.00 | \$22.00 | \$38,500.00 | \$22.00 | \$38,500.00 |
| 11 FURNISH AND INSTALL OPENING REINFORCING ASSEMBLY, TO INCLUDE C CHANNEL AND PLATES, ASTM A36, #10 ALL THREAD BARS, ASTM A615 GR/ WITH HEAVY HEX NUTS AND WASHERS, HOT DIP GALVANIZING AFTER FABRICATION, COATING, WALERS, AND ALL RELATED AND MISCELLANEOL APPURTENANCES AND ITEMS RELATED TO AND NECESSARY TO COMPLET PROJECT AS SHOWN IN THE PLANS, COMPLETE IN PLACE. | NDE 75 | 81 | \$895.00 | \$72,495.00 | \$665.00 | \$53,865.00 | \$400.00 | \$32,400.00 |
| 12 18" THICK RIP RAP, COMPLETE IN PLACE | SY | 3110 | \$78.00 | \$242,580.00 | \$95.00 | \$295,450.00 | \$110.00 | \$342,100.00 |
| 13 DRAINAGE SWALE V-SHAPED, WITH 4:1 SIDE SLOPES TO BE COMPLETED I PLACE AND IN ACCORDANCE TO PLANS | N LF | 335 | \$6.50 | \$2,177.50 | \$5.00 | \$1,675.00 | \$6.00 | \$2,010.00 |
| UPSTREAM BERM 1 - DETENTION ITEMS SUBTOTAL: | | | | \$1,180,872.50 | | \$1,244,390.00 | | \$1,195,460.00 |
| DOWNSTREAM BERM 2 – DETENTION ITEMS | | 4 | | | | | | |
| 1 5.25' DEPTH SHEET PILE STRUCTURE (PZ27 OR APPROVED EQUAL), ASTM GRADE 50 STEEL WITH 16 MIL MINIMUM DRY FILM THICKNESS (DFT) COAL EPOXY FOR THE TOP HALF AND ON BOTH SIDES OF SHEET PILE, AND ALL RELATED AND MISCELLANEOUS APPURTENANCES AND ITEMS RELATED NECESSARY TO COMPLETE THE PROJECT AS SHOWN IN THE PLANS, (MAT ONLY), COMPLETE IN PLACE. | rar O AND | 416 | \$39.00 | \$16,224.00 | \$38.00 | \$15,808.00 | \$33.00 | \$13,728.00 |
| 2 INSTALLATION OF 5.25' DEPTH SHEET PILE STRUCTURE (PZ27 OR APPROV EQUAL), ASTM A 572, GRADE 50 STEEL WITH 16 MIL MINIMUM DRY FILM THICKNESS (DFT) COAL TAR EPOXY FOR THE TOP HALF AND ON BOTH SID SHEET PILE, AND ALL RELATED AND MISCELLANEOUS APPURTENANCES A ITEMS RELATED TO AND NECESSARY TO COMPLETE THE PROJECT AS SHI IN THE PLANS, COMPLETE IN PLACE. | ES OF | 416 | \$19.00 | \$7,904.00 | \$22.00 | \$9,152.00 | \$22.00 | \$9,152.00 |
| 3 13.25' DEPTH SHEET PILE STRUCTURE (PZ27 OR APPROVED EQUAL), ASTM 572, GRADE 50 STEEL WITH 16 MIL MINIMUM DRY FILM THICKNESS (DET) CT TAR EPOXY FOR THE TOP HALF AND ON BOTH SIDES OF SHEET PILE, AND RELATED AND MISCELLANEOUS APPURTENANCES AND ITEMS RELATED NECESSARY TO COMPLETE THE PROJECT AS SHOWN IN THE PLANS, (MAT ONLY), COMPLETE IN PLACE. | DAL ALL O AND | 1657 | \$39.00 | \$64,623.00 | \$38.00 | \$62,966.00 | \$33.00 | \$54,681.00 |
| 4 INSTALLATION OF 13.25' DEPTH SHEET PILE STRUCTURE (PZ27 OR APPRO EQUAL), ASTM A 572, GRADE 50 STEEL WITH 16 MIL MINIMUM DRY FILM THICKNESS (DFT) COAL TAR EPOXY FOR THE TOP HALF AND ON BOTH SID SHEET PILE, AND ALL RELATED AND MISCELLANEOUS APPURTENANCES A ITEMS RELATED TO AND NECESSARY TO COMPLETE THE PROJECT AS SH IN THE PLANS, COMPLETE IN PLACE. | ES OF ND | 1657 | \$19.00 | \$31,483.00 | \$22.00 | \$36,454.00 | \$22.00 | \$36,454.00 |
| 5 25.25' DEPTH SHEET PILE STRUCTURE (PZ27 OR APPROVED EQUAL), ASTM 572, GRADE 50 STEEL WITH 16 MIL MINIMUM DRY FILM THICKNESS (DFT) CC TAR EPOXY FOR THE TOP HALF AND ON BOTH SIDES OF SHEET PILE, AND RELATED AND MISCELLANEOUS APPURTENANCES AND ITEMS RELATED T NECESSARY TO COMPLETE THE PROJECT AS SHOWN IN THE PLANS, (MAT ONLY), COMPLETE IN PLACE. | DAL ALL O AND | 3409 | \$39.00 | \$132,951.00 | \$38.00 | \$129,542.00 | \$33.00 | \$112,497.00 |
| 6 INSTALLATION OF 25.25' DEPTH SHEET PILE STRUCTURE (PZ27 OR APPRO EQUAL), ASTM A 572, GRADE 50 STEEL WITH 16 MIL MINIMUM DRY FILM THICKNESS (DFT) COAL TAR EPOXY FOR THE TOP HALF AND ON BOTH SID SHEET PILE, AND ALL RELATED AND MISCELLANEOUS APPURTENANCES A ITEMS RELATED TO AND NECESSARY TO COMPLETE THE PROJECT AS SH IN THE PLANS, COMPLETE IN PLACE. | ES OF ND | 3409 | \$19.00 | \$64,771.00 | \$22.00 | \$74,998.00 | \$22.00 | \$74,998.00 |

| BID TABULATION FOR: BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO. | | | | | | | | | |
|---|------|------|--|--------------|-----------------|----------------|-----------------|--------------|--|
| | | | 0202-1007A (9.2) 1) CARLSON MCCLAIN COMPAN | | 2) KEAN CONSTRU | JCTION LLC | 3) REBEL CONTRA | CTORS, INC. | |
| ITEM DESCRIPTION | UNIT | QTY | UNIT COST | TOTAL COST | UNIT COST | TOTAL COST | UNIT COST | TOTAL COST | |
| 7 28.25' DEPTH SHEET PILE STRUCTURE (PZ27 OR APPROVED EQUAL), ASTM A 572, GRADE 50 STEEL WITH 16 MIL MINIMUM DRY FILM THICKNESS (DET) COAL TAR EPOXY FOR THE TOP HALF AND ON BOTH SIDES OF SHEET PILE, AND ALL RELATED AND MISCELLANEOUS APPURTENANCES AND ITEMS RELATED TO AND NECESSARY TO COMPLETE THE PROJECT AS SHOWN IN THE PLANS, (MATERIAL ONLY), COMPLETE IN PLACE. | SF | 3532 | \$39.00 | \$137,748.00 | \$38.00 | \$134,216.00 | \$33.00 | \$116,556.00 | |
| 8 INSTALLATION OF 28.25' DEPTH SHEET PILE STRUCTURE (PZ27 OR APPROVED EQUAL), ASTM A 572, GRADE 50 STEEL WITH 16 MIL MINIMUM DRY FILM THICKNESS (DFT) COAL TAR EPOXY FOR THE TOP HALF AND ON BOTH SIDES OF SHEET PILE, AND ALL RELATED AND MISCELLANEOUS APPURTENANCES AND ITEMS RELATED TO AND NECESSARY TO COMPLETE THE PROJECT AS SHOWN IN THE PLANS, COMPLETE IN PLACE. | SF | 3532 | \$19.00 | \$67,108.00 | \$22.00 | \$77,704.00 | \$22.00 | \$77,704.00 | |
| 9 34.25' DEPTH SHEET PILE STRUCTURE (PZ27 OR APPROVED EQUAL), ASTM A 572, GRADE 50 STEEL WITH 16 MIL MINIMUM DRY FILM THICKNESS (DET) COAL TAR EPOXY FOR THE TOP HALF AND ON BOTH SIDES OF SHEET PILE, AND ALL RELATED AND MISCELLANEOUS APPURTENANCES AND ITEMS RELATED TO AND NECESSARY TO COMPLETE THE PROJECT AS SHOWN IN THE PLANS, (MATERIAL ONLY), COMPLETE IN PLACE. | SF | 2227 | \$39.00 | \$86,853.00 | \$38.00 | \$84,626.00 | \$33.00 | \$73,491.00 | |
| 10 INSTALLATION OF 34.25' DEPTH SHEET PILE STRUCTURE (PZ27 OR APPROVED EQUAL), ASTM A 572, GRADE 50 STEEL WITH 16 MIL MINIMUM DRY FILM THICKNESS (DFT) COAL TAR EPOXY FOR THE TOP HALF AND ON BOTH SIDES OF SHEET PILE, AND ALL RELATED AND MISCELLANEOUS APPURTENANCES AND ITEMS RELATED TO AND NECESSARY TO COMPLETE THE PROJECT AS SHOWN IN THE PLANS, COMPLETE IN PLACE. | SF | 2227 | \$19,00 | \$42,313.00 | \$22.00 | \$48,994.00 | \$22.00 | \$48,994.00 | |
| 11 9.25' DEPTH SHEET PILE STRUCTURE (PZ27 OR APPROVED EQUAL), ASTM A 572, GRADE 50 STEEL WITH 16 MIL MINIMUM DRY FILM THICKNESS (DFT) COAL TAR EPOXY FOR THE TOP HALF AND ON BOTH SIDES OF SHEET PILE, AND ALL RELATED AND MISCELLANEOUS APPURTENANCES AND ITEMS RELATED TO AND NECESSARY TO COMPLETE THE PROJECT AS SHOWN IN THE PLANS, (MATERIAL ONLY), COMPLETE IN PLACE. | SF | 463 | \$39.00 | \$18,057.00 | \$38.00 | \$17,594.00 | \$33.00 | \$15,279.00 | |
| 12 INSTALLATION OF 9.25' DEPTH SHEET PILE STRUCTURE (PZ27 OR APPROVED EQUAL), ASTM A 572, GRADE 50 STEEL WITH 16 MIL MINIMUM DRY FILM THICKNESS (DFT) COAL TAR EPOXY FOR THE TOP HALF AND ON BOTH SIDES OF SHEET PILE, AND ALL RELATED AND MISCELLANEOUS APPUTENANCES AND ITEMS RELATED TO AND NECESSARY TO COMPLETE THE PROJECT AS SHOWN IN THE PLANS, COMPLETE IN PLACE. | SF | 463 | \$19.00 | \$8,797.00 | \$22.00 | \$10,186.00 | \$22.00 | \$10,186.00 | |
| 13 FURNISH AND INSTALL OPENING REINFORCING ASSEMBLY, TO INCLUDE C15X33.9 CHANNEL AND PLATES, ASTM A36, #10 ALL THREAD BARS, ASTM A615 GRADE 75 WITH HEAVY HEX NUTS AND WASHERS, HOT DIP GALVANIZING AFTER FABRICATION, COATING, WALERS, AND ALL RELATED AND MISCELLANEOUS APPURTENANCES AND ITEMS RELATED TO AND NECESSARY TO COMPLETE THE PROJECT AS SHOWN IN THE PLANS, COMPLETE IN PLACE. | LF | 111 | \$895.00 | \$99,345.00 | \$665.00 | \$73,815.00 | \$650.00 | \$72,150.00 | |
| 14 18" THICK RIP RAP, COMPLETE IN PLACE | SY | 2470 | \$78.00 | \$192,660.00 | \$95.00 | \$234,650.00 | \$110.00 | \$271,700.00 | |
| DOWNSTREAM BERM 2 - DETENTION ITEMS SUBTOTAL: | | | | \$970,837.00 | | \$1,010,705.00 | | \$987,570.00 | |
| MISCELLANEOUS ITEMS | | | | | | | | | |
| 1 MOBILIZATION, COMPLETE IN PLACE | LS | 1 | \$70,000.00 | \$70,000.00 | \$69,000.00 | \$69,000.00 | \$97,100.00 | \$97,100.00 | |
| 2 STORM WATER POLLUTION PREVENTION PLAN COMPLIANCE, INCLUDES GENERAL SOURCE CONTROLS AND ITEMS NOT SPECIFICALLY LISTED IN BID PROPOSAL, COMPLETE IN PLACE | LS | 1 | \$3,800.00 | \$3,800.00 | \$5,000.00 | \$5,000.00 | \$7,500.00 | \$7,500.00 | |

| BID TABULATION FOR: BID OPENING DATE: BID OPENING LOCATION: | TO SERVE SILVERTHORNE PHASE TWO MONTGOMERY COUNTY MUNICIPAL UTILITY DISTRICT NO. 202A CITY OF CONROE, MONTGOMERY COUNTY, TEXAS FEBRUARY 8, 2024 LJA ENGINEERING, INC. | | | | | | | | | | |
|--|---|------|---|--------------|-----------------|--------------|-----------------|--------------|--|--|--|
| TABULATION BY: TABULATION DATE: LJA JOB NO. | | | C. DURHAM FEBRUARY 8, 2024 0202-1007A (9.2) | | | | | C | | | |
| | | | 1) CARLSON MCCLAIN COMPAN | Y LLC | 2) KEAN CONSTRU | | 3) REBEL CONTRA | | | | |
| ITEM DESCRIPTION | UNIT | QTY | UNIT COST | TOTAL COST | UNIT COST | TOTAL COST | UNIT COST | TOTAL COST | | | |
| 3 INSTALL, MAINTAIN, AND REMOVE STABILIZED CONSTRUCTION EXIT, AND REGRADE AREA TO MATCH FINISHED GRADE, ONLY AT THE DIRECTION OF THE ENGINEER, COMPLETE IN PLACE | EA | 1 | \$3,800.00 | \$3,800.00 | \$1,560.00 | \$1,560.00 | \$3,500.00 | \$3,500.00 | | | |
| 4 CLEARING AND GRUBBING FOR HEAVILY TREED AREAS, (UNUSABLE CLEARED MATERIAL TO BE CHIPPED AND HAULED OFFSITE), TO PREPARE FOR PLACEMENT OF SHEET PILES; TO INCLUDE STRIPPING AND SITE PREPARATION OF SPARSELY VEGETATED AREAS, IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE. | AC | 7.42 | \$7,500.00 | \$55,650.00 | \$9,400.00 | \$69,748.00 | \$8,200.00 | \$60,844.00 | | | |
| 5 INSTALL, MAINTAIN, AND REMOVE ROCK FILTER DAM, TYPE 2, COMPLETE IN PLACE | EA | 2 | \$1,300.00 | \$2,600.00 | \$1,500.00 | \$3,000.00 | \$4,000.00 | \$8,000.00 | | | |
| 6 INSTALL, MAINTAIN, AND REMOVE FILTER FABRIC FENCE ONLY AT DIRECTION OF THE ENGINEER, COMPLETE IN PLACE | LF | 1350 | \$1.50 | \$2,025.00 | \$3.00 | \$4,050.00 | \$2.50 | \$3,375.00 | | | |
| 7 INSTALL, MAINTAIN, AND REMOVE, REINFORCED FILTER FABRIC FENCE ONLY AT DIRECTION OF THE ENGINEER, COMPLETE IN PLACE | LF | 130 | \$1.50 | \$195.00 | \$2.00 | \$260.00 | \$4.50 | \$585.00 | | | |
| 8 CEMENT STABILIZED SAND (TO BE USED ONLY AT THE WRITTEN DIRECTION OF THE ENGINEER), COMPLETE IN PLACE | CY | 50 | \$30.00 | \$1,500.00 | \$1.00 | \$50.00 | \$50.00 | \$2,500.00 | | | |
| 9 CONSTRUCTION AND REMOVAL OF TEMPORARY COFFER DAM FOR THE CONSTRUCTION OF SHEET PILES, INCLUDES DEWARTERING AND ALL APPURTENANCES (AS DIRECTED BY ENGINEER), ALL SIZES, ALL DEPTHS, COMPLETE IN PLACE. | EA | 2 | \$1,500.00 | \$3,000.00 | \$5,000.00 | \$10,000.00 | \$7,500.00 | \$15,000.00 | | | |
| 10 BYPASS PUMPING OF WATER FROM TEMPORARY COFFER DAM INTO EXISTING TRIBUTARY, 24 HRS (AS DIRECTED BY ENGINEER), COMPLETE IN PLACE. | DAY | 7 | \$300.00 | \$2,100.00 | \$100.00 | \$700.00 | \$1,200.00 | \$8,400.00 | | | |
| 11 DEWATERING (TO BE USED ONLY AT THE WRITTEN DIRECTION OF THE ENGINEER), COMPLETE IN PLACE | LF | 100 | \$20.00 | \$2,000.00 | \$20.00 | \$2,000.00 | \$20.00 | \$2,000.00 | | | |
| 12 HAUL EXCAVATED MATERIAL TO DESIGNATED DISPOSAL SITE, USING OFF ROAD TRUCKS, (0-1 MILE), INCLUDES STRIPPING, STOCKPILING STRIPPINGS, PLACEMENT AND COMPACTION TO 95% STANDARD PROCTOR DENSITY, WITH MAXIMUM 8" LIFTS, ANDRE-APPLICATION OF STRIPPINGS TO FINAL GRADED AREA, COMPLETE IN PLACE | LS | 1 | \$2,500.00 | \$2,500.00 | \$5,000.00 | \$5,000.00 | \$15,000.00 | \$15,000.00 | | | |
| 13 FULL CONSTRUCTION STAKING BY THE CONTRACTOR PER GBI PARTNERS, L.P., COORDINATE WITH JON BORDOVSKY, 281,499,4539, COMPLETE IN PLACE | LS | 1 | \$4,500.00 | \$4,500.00 | \$4,500.00 | \$4,500.00 | \$4,500.00 | \$4,500.00 | | | |
| 14 AS-BUILT SURVEY, INCLUDES A CERTIFIED EXHIBIT AND AN AUTOCAD FILE OF SURVEY, COORDINATE WITH GBI PARTNERS, L.P., JON BORDOVSKY, 281.499.4539, COMPLETE IN PLACE | LS | 1 | \$3,500.00 | \$3,500.00 | \$3,500.00 | \$3,500.00 | \$3,500.00 | \$3,500.00 | | | |
| 15 STANDARD DEDUCT FOR DAMAGE TO TREE MARKED FOR PRESERVATION, (TO BE USED ONLY AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE | EA | 0 | -\$1,000.00 | \$0.00 | -\$1,000.00 | \$0.00 | -\$1,000.00 | \$0.00 | | | |
| 16 INSTALL CITY OF CONROE ORANGE FENCE, COMPLETE IN PLACE | LF | 3255 | \$2.50 | \$8,137.50 | \$3.00 | \$9,765.00 | \$5.00 | \$16,275.00 | | | |
| 17 INSTALLATION AND REMOVAL OF TEMPORARY LOW WATER CROSSING FOR CONSTRUCTION OF ACCESS ROAD, INCLUDES TWO MINIMUM 12" C.G.M.P., REMOVAL AND DISPOSAL OF C.G.M.P., AFTER CONSTRUCTION AND RESTORING THE SITE AND SLOPES BACK TO THE ORIGINAL CONDITION OR BETTER (AS DIRECTED BY ENGINEER), COMPLETE IN PLACE | EA | 1 | \$3,000.00 | \$3,000.00 | \$1,500.00 | \$1,500.00 | \$25,000.00 | \$25,000.00 | | | |
| MISCELLANEOUS ITEMS SUBTOTAL: | | | | \$168,307.50 | | \$189,633.00 | | \$273,079.00 | | | |
| ALTERNATE BID ITEMS | | | | ÷, | | +, | | +=. 0,0.0.03 | | | |

| BID TABULATION FOR: BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO. | | | STEWARTS CREEK TRIB TO SERVE SILVERTHORI MONTGOMERY COUNTY CITY OF CONROE, MONT FEBRUARY 8, 2024 LJA ENGINEERING, INC. C. DURHAM FEBRUARY 8, 2024 0202-1007A (9.2) 1) CARLSON MCCLAIN COMPAN | NE PHASE TWO MUNICIPAL UTILITY DIST GOMERY COUNTY, TEXA | RICT NO. 202A | UCTION LLC | 3) REBEL CONTRACTORS, INC. | |
|--|------|------|--|---|---------------|----------------|----------------------------|--|
| ITEM DESCRIPTION | UNIT | QTY | UNIT COST | TOTAL COST | UNIT COST | TOTAL COST | UNIT COST TOTAL COST | |
| 1 DISPOSAL OF CLEARING AND CHIPPED MATERIAL VIA ONSITE BURNING IN ACCORDANCE WITH STATE AND LOCAL GOVERNMENTAL REGULATIONS, NO ADDITIONAL PAYMENT OR EXTENSION OF TIME WILL BE MADE IF BURNING OF DEBRIS HAS TO BE SUSPENDED FOR ANY REASON, COMPLETE IN PLACE, IN LIEU OF MISCELLANEOUS ITEM NO. 4, COMPLETE IN PLACE | AC | 7.42 | \$5,800.00 | \$43,036.00 | \$7,800.00 | \$57,876.00 | \$9,000.00 \$66,780.00 | |
| ALTERNATE BID ITEMS SUBTOTAL: BIDDING SUMMARY | | | | \$43,036.00 | | \$57,876.00 | \$66,780.00 | |
| SUBTOTAL UPSTREAM BERM 1 - DETENTION ITEMS | | | | \$1,180,872.50 | | \$1,244,390.00 | \$1,195,460.00 | |
| SUBTOTAL DOWNSTREAM BERM 2 – DETENTION ITEMS | | | | \$970,837.00 | | \$1,010,705.00 | \$987,570.00 | |
| SUBTOTAL MISCELLANEOUS ITEMS | | | | \$168,307.50 | | \$189,633.00 | \$273,079.00 | |
| TOTAL AMOUNT BASE BID | | | | \$2,320,017.00 | | \$2,444,728.00 | \$2,456,109.00 | |
| ALTERNATE BID ITEMS | | | | | | | | |
| TOTAL AMOUNT BASE BID | | | | \$2,320,017.00 | | \$2,444,728.00 | \$2,456,109.00 | |
| DEDUCT MISCELLANEOUS ITEMS ITEM NO.4 | | | | -\$55,650.00 | | -\$69,748.00 | -\$60,844.00 | |
| SUBTOTAL ALTERNATE BID ITEMS | | | | \$43,036.00 | | \$57,876.00 | \$66,780.00 | |
| TOTAL AMOUNT INCLUDING ALTERNATE BID ITEMS | | | | \$2,307,403.00 | | \$2,432,856.00 | \$2,462,045.00 | |
| | | Ć | | | | | | |

| BID TABULATION FOR: BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO. | | TO S MON CITY FEB LJA C. D FEB | WARTS CREEK TRIB SERVE SILVERTHOR NGOMERY COUNTY OF CONROE, MONT RUARY 8, 2024 ENGINEERING, INC. URHAM RUARY 8, 2024 2-1007A (9.2) | | | | | | |
|--|------|--|--|---------------|---------------------|--------------|--------------------|----------------|--|
| | | | 4) DC CONTRACTING | SERVICES, LLC | 5) LONNIE LISCHKA C | OMPANY, LP | 6) MB WESTERN CONS | TRUCTION | |
| ITEM DESCRIPTION | UNIT | QTY | UNIT COST | TOTAL COST | UNIT COST | TOTAL COST | UNIT COST T | OTAL COST | |
| UPSTREAM BERM 1 - DETENTION ITEMS | | | | | | | | | |
| 1 5' DEPTH SHEET PILE STRUCTURE (PZ27 OR APPROVED EQUAL), ASTM A 572, GRADE 50 STEEL WITH 16 MIL MINIMUM DRY FILM THICKNESS (DFT) COAL TAR EPOXY FOR THE TOP HALF AND ON BOTH SIDES OF SHEET PILE, AND ALL RELATED AND MISCELLANEOUS APPURTENANCES AND ITEMS RELATED TO AND NECESSARY TO COMPLETE THE PROJECT AS SHOWN IN THE PLANS, (MATERIAL ONLY), COMPLETE IN PLACE | SF | 440 | \$37.00 | \$16,280.00 | \$48.92 | \$21,524.80 | \$35.00 | \$15,400.00 | |
| 2 INSTALLATION OF 5' DEPTH SHEET PILE STRUCTURE (PZ27 OR APPROVED EQUAL), ASTM A 572, GRADE 50 STEEL WITH 16 MIL MINIMUM DRY FILM THICKNESS (DFT) COAL TAR EPOXY FOR THE TOP HALF AND ON BOTH SIDES OF SHEET PILE, AND ALL RELATED AND MISCELLANEOUS APPURTENANCES AND ITEMS RELATED TO AND NECESSARY TO COMPLETE THE PROJECT AS SHOWN IN THE PLANS, COMPLETE IN PLACE | SF | 440 | \$19.00 | \$8,360.00 | \$50,70 | \$22,308.00 | \$105.00 | \$46,200.00 | |
| 3 13' DEPTH SHEET PILE STRUCTURE (PZ27 OR APPROVED EQUAL), ASTM A 572, GRADE 50 STEEL WITH 16 MIL MINIMUM DRY FILM THICKNESS (DFT) COAL TAR EPOXY FOR THE TOP HALF AND ON BOTH SIDES OF SHEET PILE, AND ALL RELATED AND MISCELLANEOUS APPURTEMANCES AND ITEMS RELATED TO AND NECESSARY TO COMPLETE THE PROJECT AS SHOWN IN THE PLANS, (MATERIAL ONLY), COMPLETE IN PLACE. | SF | 650 | \$37.00 | \$24,050.00 | \$48.92 | \$31,798.00 | \$35.00 | \$22,750.00 | |
| 4 INSTALLATION OF 13' DEPTH SHEET PILE STRUCTURE (PZ27 OR APPROVED EQUAL), ASTM A 572, GRADE 50 STEEL WITH 16 MIL MINIMUM DRY FILM THICKNESS (DFT) COAL TAR EPOXY FOR THE TOP HALF AND ON BOTH SIDES OF SHEET PILE, AND ALL RELATED AND MISCELLANEOUS APPURTENANCES AND ITEMS RELATED TO AND NECESSARY TO COMPLETE THE PROJECT AS SHOWN IN THE PLANS, COMPLETE IN PLACE. | SF | 650 | \$19.00 | \$12,350.00 | \$50.70 | \$32,955.00 | \$105.00 | \$68,250.00 | |
| 5 16' DEPTH SHEET PILE STRUCTURE (PZ27 OR APPROVED EQUAL), ASTM A 572, GRADE 50 STEEL WITH 16 MIL MINIMUM DRY FILM THICKNESS (DFT) COAL TAR EPOXY FOR THE TOP HALF AND ON BOTH SIDES OF SHEET PILE, AND ALL RELATED AND MISCELLANEOUS APPURTENANCES AND ITEMS RELATED TO AND NECESSARY TO COMPLETE THE PROJECT AS SHOWN IN THE PLANS, (MATERIAL ONLY), COMPLETE IN PLACE. | SF | 800 | \$37.00 | \$29,600.00 | \$48.92 | \$39,136.00 | \$35.00 | \$28,000.00 | |
| 6 INSTALLATION OF 16' DEPTH SHEET PILE STRUCTURE (PZ27 OR APPROVED EQUAL), ASTM A 572, GRADE 50 STEEL WITH 16 MIL MINIMUM DRY FILM THICKNESS (DFT) COAL TAR EPOXY FOR THE TOP HALF AND ON BOTH SIDES OF SHEET PILE, AND ALL RELATED AND MISCELLANEOUS APPURTENANCES AND ITEMS RELATED TO AND NECESSARY TO COMPLETE THE PROJECT AS SHOWN IN THE PLANS, COMPLETE IN PLACE. | SF | 800 | \$19.00 | \$15,200.00 | \$50.70 | \$40,560.00 | \$105.00 | \$84,000.00 | |
| 7 30' DEPTH SHEET PILE STRUCTURE (P227 OR APPROVED EQUAL), ASTM A 572, GRADE 50 STEEL WITH 16 MIL MINIMUM DRY FILM THICKNESS (DFT) COAL TAR EPOXY FOR THE TOP HALF AND ON BOTH SIDES OF SHEET PILE, AND ALL RELATED AND MISCELLANEOUS APPURTENANCES AND ITEMS RELATED TO AND NECESSARY TO COMPLETE THE PROJECT AS SHOWN IN THE PLANS, (MATERIAL ONLY), COMPLETE IN PLACE. | SF | 11250 | \$37.00 | \$416,250.00 | \$48.92 | \$550,350.00 | \$35.00 | \$393,750.00 | |
| 8 INSTALLATION OF 30' DEPTH SHEET PILE STRUCTURE (PZ27 OR APPROVED EQUAL), ASTM A 572, GRADE 50 STEEL WITH 16 MIL MINIMUM DRY FILM THICKNESS (DFT) COAL TAR EPOXY FOR THE TOP HALF AND ON BOTH SIDES OF SHEET PILE, AND ALL RELATED AND MISCELLANEOUS APPURTENANCES AND ITEMS RELATED TO AND NECESSARY TO COMPLETE THE PROJECT AS SHOWN IN THE PLANS, COMPLETE IN PLACE. | SF | 11250 | \$19.00 | \$213,750.00 | \$50.70 | \$570,375.00 | \$105.00 | \$1,181,250.00 | |
| 9 35' DEPTH SHEET PILE STRUCTURE (PZ27 OR APPROVED EQUAL), ASTM A 572, GRADE 50 STEEL WITH 16 MIL MINIMUM DRY FILM THICKNESS (DFT) COAL TAR EPOXY FOR THE TOP HALF AND ON BOTH SIDES OF SHEET PILE, AND ALL RELATED AND MISCELLANEOUS APPURTENANCES AND ITEMS RELATED TO AND NECESSARY TO COMPLETE THE PROJECT AS SHOWN IN THE PLANS, (MATERIAL ONLY), COMPLETE IN PLACE. | SF | 1750 | \$37.00 | \$64,750.00 | \$48.92 | \$85,610.00 | \$35.00 | \$61,250.00 | |

| BID TABULATION FOR: BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO. | | | TO S MON CITY FEB LJA C. D FEB | SERVE SILVERTHORNE NTGOMERY COUNTY M | TARY NO. 2 DETENTION E PHASE TWO IUNICIPAL UTILITY DISTF OMERY COUNTY, TEXA: | RICT NO. 202A | | | C |
|--|---|--------|--|---|---|----------------------|----------------|--------------------|----------------|
| | | | | 4) DC CONTRACTING S | SERVICES, LLC | 5) LONNIE LISCHKA CO | OMPANY, LP | 6) MB WESTERN CONS | TRUCTION |
| ITEM | DESCRIPTION | UNIT C | ŶTÇ | UNIT COST | TOTAL COST | UNIT COST | TOTAL COST | UNIT COST T | OTAL COST |
| EQUAL), ASTM A 572, GRADE 50 S THICKNESS (DFT) COAL TAR EPC SHEET PILE, AND ALL RELATED A | EET PILE STRUCTURE (P227 OR APPROVED STEEL WITH 16 MIL MINIMUM DRY FILM DXY FOR THE TOP HALF AND ON BOTH SIDES OF AND MISCELLANEOUS APPURTENANCES AND SARY TO COMPLETE THE PROJECT AS SHOWN ACE. | SF | 1750 | \$19.00 | \$33,250.00 | \$50.70 | \$88,725.00 | \$105.00 | \$183,750.00 |
| CHANNEL AND PLATES, ASTM A3 WITH HEAVY HEX NUTS AND WA: FABRICATION, COATING, WALER | REINFORCING ASSEMBLY, TO INCLUDE C8X11.5 16, #10 ALL THREAD BARS, ASTM A615 GRADE 75 SHERS, HOT DIP GALVANIZING AFTER S, AND ALL RELATED AND MISCELLANEOUS ELATED TO AND NECESSARY TO COMPLETE THE INS, COMPLETE IN PLACE. | LF | 81 | \$394.00 | \$31,914.00 | \$840.00 | \$68,040.00 | \$595.00 | \$48,195.00 |
| 12 18" THICK RIP RAP, COMPLETE IN | I PLACE | SY | 3110 | \$114.00 | \$354,540.00 | \$118.50 | \$368,535.00 | \$100.00 | \$311,000.00 |
| 13 DRAINAGE SWALE V-SHAPED, W PLACE AND IN ACCORDANCE TO | ITH 4:1 SIDE SLOPES TO BE COMPLETED IN PLANS | LF | 335 | \$9.00 | \$3,015.00 | \$6.00 | \$2,010.00 | \$45.00 | \$15,075.00 |
| UPSTREAM BERM 1 - DETENTION ITEM | S SUBTOTAL: | | | | \$1,223,309.00 | r | \$1,921,926.80 | | \$2,458,870.00 |
| DOWNSTREAM BERM 2 – DETENTION I | TEMS | | | | | | | | |
| GRADE 50 STEEL WITH 16 MIL MI EPOXY FOR THE TOP HALF AND RELATED AND MISCELLANEOUS | TURE (PZ27 OR APPROVED EQUAL), ASTM A 572, NIMUM DRY FILM THICKNESS (DFT) COAL TAR ON BOTH SIDES OF SHEET PILE, AND ALL APPURTENANCES AND ITEMS RELATED TO AND PROJECT AS SHOWN IN THE PLANS, (MATERIAL | SF | 416 | \$37.00 | \$15,392.00 | \$53.47 | \$22,243.52 | \$35.00 | \$14,560.00 |
| EQUAL), ASTM A 572, GRADE 50 S THICKNESS (DFT) COAL TAR EPC SHEET PILE, AND ALL RELATED A | HEET PILE STRUCTURE (PZ27 OR APPROVED STEEL WITH 16 MIL MINIMUM DRY FILM DXY FOR THE TOP HALF AND ON BOTH SIDES OF AND MISCELLANEOUS APPURTENANCES AND SARY TO COMPLETE THE PROJECT AS SHOWN ACE. | SF | 416 | \$19.00 | \$7,904.00 | \$50.70 | \$21,091.20 | \$105.00 | \$43,680.00 |
| 572, GRADE 50 STEEL WITH 16 M TAR EPOXY FOR THE TOP HALF / RELATED AND MISCELLANEOUS | TURE (P227 OR APPROVED EQUAL), ASTMA IL MINIMUM DRY FILM THICKNESS (DFT) COAL AND ON BOTH SIDES OF SHEET PILE, AND ALL APPURTENANCES AND ITEMS RELATED TO AND PROJECT AS SHOWN IN THE PLANS, (MATERIAL | SF | 1657 | \$37.00 | \$61,309.00 | \$53.47 | \$88,599.79 | \$35.00 | \$57,995.00 |
| EQUAL), ASTM A 572, GRADE 50 3 THICKNESS (DFT) COAL TAR EPC SHEET PILE, AND ALL RELATED A | SHEET PILE STRUCTURE (PZ27 OR APPROVED STEEL WITH 16 MIL MINIMUM DRY FILM XY FOR THE TOP HALF AND ON BOTH SIDES OF AND MISCELLANEOUS APPURTENANCES AND SARY TO COMPLETE THE PROJECT AS SHOWN ACE. | SF | 1657 | \$19.00 | \$31,483.00 | \$50.70 | \$84,009.90 | \$105.00 | \$173,985.00 |
| 572, GRADE 50 STEEL WITH 16 M TAR EPOXY FOR THE TOP HALF / RELATED AND MISCELLANEOUS | CTURE (PZ27 OR APPROVED EQUAL), ASTM A IIL MINIMUM DRY FILM THICKNESS (DFT) COAL AND ON BOTH SIDES OF SHEET PILE, AND ALL APPURTENANCES AND ITEMS RELATED TO AND PROJECT AS SHOWN IN THE PLANS, (MATERIAL | SF | 3409 | \$37.00 | \$126,133.00 | \$53.47 | \$182,279.23 | \$35.00 | \$119,315.00 |
| EQUAL), ASTM A 572, GRADE 50 S THICKNESS (DFT) COAL TAR EPC SHEET PILE, AND ALL RELATED A | SHEET PILE STRUCTURE (PZ27 OR APPROVED STEEL WITH 16 MIL MINIMUM DRY FILM DXY FOR THE TOP HALF AND ON BOTH SIDES OF AND MISCELLANEOUS APPURTENANCES AND SARY TO COMPLETE THE PROJECT AS SHOWN ACE. | SF | 3409 | \$19.00 | \$64,771.00 | \$50.70 | \$172,836.30 | \$105.00 | \$357,945.00 |

| BID TABULATION FOR: BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO. | | TC MM CI FE LJ C. FE | STEWARTS CREEK TRIBUTARY NO. 2 DETENTION TO SERVE SILVERTHORNE PHASE TWO MONTGOMERY COUNTY MUNICIPAL UTILITY DISTRICT NO. 202A CITY OF CONROE, MONTGOMERY COUNTY, TEXAS FEBRUARY 8, 2024 LJA ENGINEERING, INC. C. DURHAM FEBRUARY 8, 2024 0202-1007A (9.2) | | | | | | | |
|---|------|--|--|----------------|-------------------|----------------|-------------------|----------------|--|--|
| | | | 4) DC CONTRACTING | SERVICES, LLC | 5) LONNIE LISCHKA | COMPANY, LP | 6) MB WESTERN COI | NSTRUCTION | | |
| ITEM DESCRIPTION | UNIT | QTY | UNIT COST | TOTAL COST | UNIT COST | TOTAL COST | UNIT COST | TOTAL COST | | |
| 7 28.25' DEPTH SHEET PILE STRUCTURE (PZ27 OR APPROVED EQUAL), ASTM A 572, GRADE 50 STEEL WITH 16 MIL MINIMUM DRY FILM THICKNESS (DFT) COAL TAR EPOXY FOR THE TOP HALF AND ON BOTH SIDES OF SHEET PILE, AND ALL RELATED AND MISCELLANEOUS APPURTENANCES AND ITEMS RELATED TO AND NECESSARY TO COMPLETE THE PROJECT AS SHOWN IN THE PLANS, (MATERIAL ONLY), COMPLETE IN PLACE. | SF | 3532 | \$37.00 | \$130,684.00 | \$53.47 | \$188,856.04 | \$35.00 | \$123,620.00 | | |
| 8 INSTALLATION OF 28.25' DEPTH SHEET PILE STRUCTURE (PZ27 OR APPROVED EQUAL), ASTM A 572, GRADE 50 STEEL WITH 16 MIL MINIMUM DRY FILM THICKNESS (DFT) COAL TAR EPOXY FOR THE TOP HALF AND ON BOTH SIDES OF SHEET PILE, AND ALL RELATED AND MISCELLANEOUS APPURTENANCES AND ITEMS RELATED TO AND NECESSARY TO COMPLETE THE PROJECT AS SHOWN IN THE PLANS, COMPLETE IN PLACE. | SF | 3532 | \$19.00 | \$67,108.00 | \$50.70 | \$179,072.40 | \$105.00 | \$370,860.00 | | |
| 9 34.25' DEPTH SHEET PILE STRUCTURE (PZ27 OR APPROVED EQUAL), ASTM A 572, GRADE 50 STEEL WITH 16 MIL MINIMUM DRY FILM THICKNESS (DFT) COAL TAR EPOXY FOR THE TOP HALF AND ON BOTH SIDES OF SHEET PILE, AND ALL RELATED AND MISCELLANEOUS APPURTENANCES AND ITEMS RELATED TO AND NECESSARY TO COMPLETE THE PROJECT AS SHOWN IN THE PLANS, (MATERIAL ONLY), COMPLETE IN PLACE. | SF | 2227 | \$37.00 | \$82,399.00 | \$53.47 | \$119,077.69 | \$35.00 | \$77,945.00 | | |
| 10 INSTALLATION OF 34.25' DEPTH SHEET PILE STRUCTURE (PZ27 OR APPROVED EQUAL), ASTM A 572, GRADE 50 STEEL WITH 16 MIL MINIMUM DRY FILM THICKNESS (DFT) COAL TAR EPOXY FOR THE TOP HALF AND ON BOTH SIDES OF SHEET PILE, AND ALL RELATED AND MISCELLANEOUS APPURTENANCES AND ITEMS RELATED TO AND NECESSARY TO COMPLETE THE PROJECT AS SHOWN IN THE PLANS, COMPLETE IN PLACE. | SF | 2227 | \$19.00 | \$42,313.00 | \$50.70 | \$112,908.90 | \$105.00 | \$233,835.00 | | |
| 11 9.25' DEPTH SHEET PILE STRUCTURE (PZ27 OR APPROVED EQUAL), ASTM A 572, GRADE 50 STEEL WITH 16 MIL MINIMUM DRY FILM THICKNESS (DFT) COAL TAR EPOXY FOR THE TOP HALF AND ON BOTH SIDES OF SHEET PILE, AND ALL RELATED AND MISCELLANEOUS APPURTENANCES AND ITEMS RELATED TO AND NECESSARY TO COMPLETE THE PROJECT AS SHOWN IN THE PLANS, (MATERIAL ONLY), COMPLETE IN PLACE. | SF | 463 | \$37.00 | \$17,131.00 | \$53.47 | \$24,756.61 | \$35.00 | \$16,205.00 | | |
| 12 INSTALLATION OF 9.25' DEPTH SHEET PILE STRUCTURE (PZ27 OR APPROVED EQUAL), ASTM A 572, GRADE 50 STEEL WITH 16 MIL MINIMUM DRY FILM THICKNESS (DFT) COAL TAR EPOXY FOR THE TOP HALF AND ON BOTH SIDES OF SHEET PILE, AND ALL RELATED AND MISCELLANEOUS APPURTENANCES AND ITEMS RELATED TO AND NECESSARY TO COMPLETE THE PROJECT AS SHOWN IN THE PLANS, COMPLETE IN PLACE. | SF | 463 | \$19.00 | \$8,797.00 | \$50.70 | \$23,474.10 | \$105.00 | \$48,615.00 | | |
| 13 FURNISH AND INSTALL OPENING REINFORCING ASSEMBLY, TO INCLUDE C15X33.9 CHANNEL AND PLATES, ASTM A36, #10 ALL THREAD BARS, ASTM A615 GRADE 75 WITH HEAVY HEX NUTS AND WASHERS, HOT DIP GALVANIZING AFTER FABRICATION, COATING, WALERS, AND ALL RELATED AND MISCELLANEOUS APPURTENANCES AND ITEMS RELATED TO AND NECESSARY TO COMPLETE THE PROJECT AS SHOWN IN THE PLANS, COMPLETE IN PLACE. | | 111 | \$750.00 | \$83,250.00 | \$1,143.10 | \$126,884.10 | \$855.00 | \$94,905.00 | | |
| 14 18" THICK RIP RAP, COMPLETE IN PLACE | SY | 2470 | \$114.00 | \$281,580.00 | \$118.50 | \$292,695.00 | \$100.00 | \$247,000.00 | | |
| DOWNSTREAM BERM 2 – DETENTION ITEMS SUBTOTAL: | | | | \$1,020,254.00 | | \$1,638,784.78 | | \$1,980,465.00 | | |
| MISCELLANEOUS ITEMS | | | | | | ., | | | | |
| 1 MOBILIZATION, COMPLETE IN PLACE | LS | 1 | \$55,705.50 | \$55,705.50 | \$176,000.00 | \$176,000.00 | \$200,000.00 | \$200,000.00 | | |
| 2 STORM WATER POLLUTION PREVENTION PLAN COMPLIANCE, INCLUDES GENERAL SOURCE CONTROLS AND ITEMS NOT SPECIFICALLY LISTED IN BID PROPOSAL, COMPLETE IN PLACE | LS | 1 | \$2,160.00 | \$2,160.00 | \$2,000.00 | \$2,000.00 | \$5,000.00 | \$5,000.00 | | |

| | 00 |
|---|----|
| 4) DC CONTRACTING SERVICES, LLC 5) LONNIE LISCHKA COMPANY, LP 6) MB WESTERN CONSTRUCTION | 00 |
| ITEM DESCRIPTION UNIT QTY UNIT COST TOTAL COST UNIT COST TOTAL COST UNIT COST TOTAL COST | 00 |
| 3 INSTALL, MAINTAIN, AND REMOVE STABILIZED CONSTRUCTION EXIT, AND EA 1 \$3,300.00 \$4,000.00 \$4,000.00 \$15,000.00 \$15,000.00 REGRADE AREA TO MATCH FINISHED GRADE, ONLY AT THE DIRECTION OF THE ENGINEER, COMPLETE IN PLACE 1 \$3,300.00 \$3,300.00 \$4,000.00 \$15,000.00 | |
| 4 CLEARING AND GRUBBING FOR HEAVILY TREED AREAS, (UNUSABLE CLEARED AC 7.42 \$8,000.00 \$59,360.00 \$16,500.00 \$122,430.00 \$8,000.00 \$59,30 MATERIAL TO BE CHIPPED AND HAULED OFFSITE), TO PREPARE FOR PLACEMENT OF SHEET PLUES; TO INCLUDE STRIPPING AND SITE PREPARATION OF SPARSELY VEGETATED AREAS, IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE. | 00 |
| 5 INSTALL, MAINTAIN, AND REMOVE ROCK FILTER DAM, TYPE 2, COMPLETE IN EA 2 \$1,500.00 \$3,000.00 \$3,000.00 \$6,000.00 \$2,500.00 \$5,00 PLACE | 00 |
| 6 INSTALL, MAINTAIN, AND REMOVE FILTER FABRIC FENCE ONLY AT DIRECTION OF LF 1350 \$1.40 \$1,890.00 \$3.00 \$4,050.00 \$2.00 \$2.00 \$2.70 THE ENGINEER, COMPLETE IN PLACE | 00 |
| 7 INSTALL, MAINTAIN, AND REMOVE, REINFORCED FILTER FABRIC FENCE ONLY AT LF 130 \$1.45 \$188.50 \$6.00 \$780.00 \$2.00 \$2.00 \$2.00 | 00 |
| 8 CEMENT STABILIZED SAND (TO BE USED ONLY AT THE WRITTEN DIRECTION OF CY 50 \$40.00 \$2,000.00 \$50.00 \$2,500.00 \$100.00 \$100.00 \$50.00 \$2,500.00 \$100.00 \$50.00 \$2,500.00 \$100.00 \$50.00 \$2,500.00 \$100.00 \$50.00 \$2,500.00 \$100.00 \$50.00 \$2,500.00 \$100.00 \$50.00 \$2,500.00 \$100.00 \$50.00 \$2,500.00 \$100.00 \$50.00 \$2,500.00 \$100.00 \$50.00 \$2,500.00 \$100.00 \$50.00 \$2,500.00 \$100.00 \$50.00 \$2,500.00 \$100.00 \$50.00 \$2,500.00 \$2,500.00 \$100.00 \$50.00 \$2,500.00 \$2,500.00 \$2,500.00 \$2,500.00 \$2,500.00 \$50.00 \$2,500 | 00 |
| 9 CONSTRUCTION AND REMOVAL OF TEMPORARY COFFER DAM FOR THE EA 2 \$38,000.00 \$76,000.00 \$3,000.00 \$6,000.00 \$10,000.00 \$20,00 CONSTRUCTION OF SHEET PILES, INCLUDES DEWARTERING AND ALL APPURTENANCES (AS DIRECTED BY ENGINEER), ALL SIZES, ALL DEPTHS, COMPLETE IN PLACE. | 00 |
| 10 BYPASS PUMPING OF WATER FROM TEMPORARY COFFER DAM INTO EXISTING DAY 7 \$500.00 \$775.00 \$5,425.00 \$750.00 \$5,225.00 TRIBUTARY, 24 HRS (AS DIRECTED BY ENGINEER), COMPLETE IN PLACE. DAY 7 \$500.00 \$775.00 \$5,425.00 \$750.00 \$5,225.00 | 00 |
| 11 DEWATERING (TO BE USED ONLY AT THE WRITTEN DIRECTION OF THE LF 100 \$20.00 \$2,000.00 \$2,000.00 \$20.00 | 00 |
| 12 HAUL EXCAVATED MATERIAL TO DESIGNATED DISPOSAL SITE, USING OFF ROAD LS 1 \$58,534.00 \$132,000.00 \$132,000.00 \$100,000.00 \$100,000 TRUCKS, (0-1 MILE), INCLUDES STRIPPING, STOCKPILING STRIPPINGS, PLACEMENT AND COMPACTION TO 95% STANDARD PROCTOR DENSITY, WITH MAXIMUM 8" LIFTS, ANDRE-APPLICATION OF STRIPPINGS TO FINAL GRADED AREA, COMPLETE IN PLACE | 00 |
| 13 FULL CONSTRUCTION STAKING BY THE CONTRACTOR PER CBI PARTNERS, L.P., LS 1 \$4,500.00 | 00 |
| 14 AS-BUILT SURVEY, INCLUDES A CERTIFIED EXHIBIT AND AN AUTOCAD FILE OF LS 1 \$3,500.00 \$3, | 00 |
| 15 STANDARD DEDUCT FOR DAMAGE TO TREE MARKED FOR PRESERVATION, (TO EA 0 -\$1,000.00 \$0.00 -\$1,000.00 \$0.00 -\$1,000.00 \$0.00 -\$1,000.00 \$0.00 -\$1,000.00 \$0.00 -\$1,000.00 \$0.00 | 00 |
| 16 INSTALL CITY OF CONROE ORANGE FENCE, COMPLETE IN PLACE LF 3255 \$2.00 \$6,510.00 \$6.00 \$19,530.00 \$2.00 \$6.50 | 00 |
| 17 INSTALLATION AND REMOVAL OF TEMPORARY LOW WATER CROSSING FOR EA 1 \$2,800.00 \$32,500.00 \$32,500.00 \$35,000.0 | 00 |
| MISCELLANEOUS ITEMS SUBTOTAL: \$284,948.00 \$523,215.00 \$469.00 | 00 |
| MISCELLANEOUS TIEMS SUBTOTAL. \$204,940.00 \$323,215.00 \$409,00 | |

| BID TABULATION FOR: BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO. | | | TC M CI FE LJ C. FE | SERVE SILVERTHOR | YUTARY NO. 2 DETENTION NE PHASE TWO MUNICIPAL UTILITY DIST IGOMERY COUNTY, TEXA | RICT NO. 202A | | | |
|---|--|------|---------------------------------------|-------------------|--|-------------------|----------------|------------------------------|--|
| | | | | 4) DC CONTRACTING | SERVICES, LLC | 5) LONNIE LISCHKA | COMPANY, LP | 6) MB WESTERN CONSTRUCTION | |
| ITEM DESCRIPTION | | UNIT | QTY | UNIT COST | TOTAL COST | UNIT COST | TOTAL COST | UNIT COST TOTAL COST | |
| 1 DISPOSAL OF CLEARING AND CHIPPED MATERIA ACCORDANCE WITH STATE AND LOCAL GOVERN ADDITIONAL PAYMENT OR EXTENSION OF TIME V DEBRIS HAS TO BE SUSPENDED FOR ANY REASO LIEU OF MISCELLANEOUS ITEM NO. 4, COMPLETI | IMENTAL REGULATIONS, NO VILL BE MADE IF BURNING OF ON, COMPLETE IN PLACE, IN | AC | 7.42 | \$8,000.00 | \$59,360.00 | \$1.00 | \$7.42 | \$1,000.00 \$7,420.00 | |
| ALTERNATE BID ITEMS SUBTOTAL: | | | | | \$59,360.00 | | \$7.42 | \$7,420.00 | |
| BIDDING SUMMARY | | | | | | | | | |
| SUBTOTAL UPSTREAM BERM 1 - DETENTION ITEMS | | | | | \$1,223,309.00 | | \$1,921,926.80 | \$2,458,870.00 | |
| SUBTOTAL DOWNSTREAM BERM 2 – DETENTION ITEMS | 3 | | | | \$1,020,254.00 | | \$1,638,784.78 | \$1,980,465.00 | |
| SUBTOTAL MISCELLANEOUS ITEMS | | | | | \$284,948.00 | | \$523,215.00 | \$469,080.00 | |
| | | | | | \$2,528,511.00 | | \$4,083,926.58 | \$4,908,415.00 | |
| ALTERNATE BID ITEMS | | | | | | | | | |
| TOTAL AMOUNT BASE BID | | | | | \$2,528,511.00 | | \$4,083,926.58 | \$4,908,415.00 | |
| DEDUCT MISCELLANEOUS ITEMS ITEM NO.4 | | | | | -\$59,360.00 | | -\$122,430.00 | -\$59,360.00 | |
| SUBTOTAL ALTERNATE BID ITEMS | | | | | \$59,360.00 | | \$7.42 | \$7,420.00 | |
| TOTAL AMOUNT INCLUDING ALTERNATE BID ITEMS | | | Ć | | \$2,528,511.00 | | \$3,961,504.00 | \$4,856,475.00 | |